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Hnwommed the: wrowit of Nalkes town?

f volcanic soils
tlity of water
| » Existence of a rich hinterland

A

» Presence of minerals
B_ | » Early settlement by Asians
e Presence of an intermational airport

e Establishment of cultural centres
C. | = Existence of headquarters of U.N. agencies
» Development of a Lake Port.

e Presence of white settlers
D. | ® Establishment of an administrative centre
e Well developed transport network.

Three of the following are problems facing poultry
farming in Kenya.

Which one is not?

A. Diseases that kill the birds.

B. Shortage of workers.

C. Expensive poultry feeds.

D. Changes in the prices of poultry products.

John, a standard six pupil,
person lying along the pathway. The best action for John
to take to assist the person is to

A. try to talk to the person

B. call for help

C. let the person rest

D. try to move the person.

The main factor favouring large scale dairy

farming in the Kenya highlands is
existence of cool climate
availability of veterinary services
availability of labour

existence of milk storage facilities.
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The main reason why there are many road accidents in
Kenya is that

A. roads are in poor condition.

B. cyclists ride carelessly

C. roads lack road signs” P
D- drivers ignore traffic rules.

Which one of the following statements is true about
inland fishing in both Kenya and Tanzania?

A. Fishermen have inadequate modern fish
preserving facilities.

Fishing is carried out during particular seasons ™
Fish is mainly for export market~

Fish is mainly transported by railway.>«
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Which one of the following industries is correctly
matched with the main type of pollution it causes?

Industry Type of pollution
A. Leather tanning ~ Noise pollution |~
B. Saw milling — Water pollution
C. Cement manufacture — Air pollution-
D. Vehicle assembly — Land pollutior*-
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Below are some factors which are considered in the
location of industries.

(i)  availability of water.

(ii) nearness to the market.

(iii) availability of raw materials.

(iv) government policy.

(v) availability of labour.

Which one of the following combinations of factors
could be considered when locating a basket weaving
industry?

A. (i), (ii) and (v).

B. (i), (iii) and (v).
G. (i), (iii) and (v).
D. (i), (iv) and (v).
Kenya’s philosophy of African Socialism is
important in that it

promotes traditional systems of government
encourages individuals to get wealth

encourages people to work as a team

promotes the use of different currencies.
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Below are tourist attractions in and
Switzerland.

(i) Coastal beaches?

(ii) Winter sports.

(iif) Varied glacial scenery.

(iv) Hot sunny climate throughout the year,

Which one of the following combinations is made up of
tourist attractions in Switzerland?

A. (D) and (ii)

B. (1) and (iv)

C. (ii) and (iii)

D. (iv) and (iii).

Kenya

The Organisation of African Unity (OAU) had its
members drawn from

independent states of Aftica

English speaking states of Africa

states with similar systems of government

states with common currency.
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Pupils should participate in school management so that
they

ensure the teachers do their work effectwely

. prepare their class timetables

C. understand the rules that guide them

D. take care of the school money.
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The following are statements about a type of democracy.
(i) Power is in the hands of citizen.

(i1) Citizens meet to make laws.

(iii) Citizens appoint officials to implement policies.
The type of democracy referred to is

A. direct democracy

B. indirect democracy

C. parliamentary democracy

D. civic democracy.

The reason why electric fences are constructed around
some national parks is to

prevent wild animals from destroying crops

make the parks beautiful > N

mark migration routes of wild animalg)}.

enable people to visit the parks.~e
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